LIST OF CHECK FIGURES AND SOLUTION HINTS

______________________________________________________________________________


CHAPTER 1

Mini-Exercises

	1-1
	(1) B, (2) D, (3) A, (4) C*, (5) B, (6) D, (7) A, (8) D.

* Dividends paid in cash are also subtracted in the   Financing section of the Statement of Cash Flows

	1-2
	(1)  SE,  (2)  A,   (3)  R,   (4)  A,   

(5)  E,    (6)  A,   (7)  E,   (8)  L,   (9) A

	1-3
	(1) CPA: Certified Public Accountant

(2) GAAP: Generally Accepted Accounting Principles

(3) SEC: Securities and Exchange Commission

(4) FASB: Financial Accounting Standards Board


Exercises

	1-1
	(1) J,  (3)  H,  (5) A,  (7)  I,  (9) C,  (11) G,  (13) M

	1-2
	(1) A,  (3) R,   (5) L,   (7) E, 

(9) E,  (11) A,  (13) L, (15) E

	1-3
	(1)  L,    (3) L,    (5) SE,   (7) A,  (9) E, 

(11) R,  (13) E,  (15) A,  (17) E.

	1-4
	Total Assets = 11,571 (in billions of Yen).

	1-5
	Req. 1:  Total Assets = $187,600

	1-6
	Net Income is $44,600.

	1-7
	Net Income is $2,714 (in millions).

	1-8
	Net Income is $50,180.

	1-9
	(A) Stockholders’ Equity = $73,700.

	1-10
	(B) Total Liabilities = $239,400.

	1-11
	Net Income = $81,000.   Total Assets = $204,350.

	1-12
	Ending Retained Earnings = $40,100.

	1-13
	(1) (I), (3) (F), (5) (O), (7) I


Problems

	1-1
	Req. 1:  Net Income = $33,740.
Req. 3:  Total Assets = $159,400.

	1-2
	Req. 1:  Net Income = $7,502.

	1-3
	Req. 1:  (d) Income = -$25,000, Cash = -$12,500. 

	1-4
	Req. 4:  Stockholders Equity = $29,000


Alternate Problems

	1-1
	Req. 1:  Net Income = $22,050.
Req. 3:  Total Assets = $117,050.

	1-2
	Req. 1:  Net Income = $9,120.

	1-3
	(d)  Income  -$36,000,  Cash  -$30,000


Cases

	1-1
	(7)  Total Liabilities = $533,951,000.

	1-2
	(2)  Net Sales = $2,473,801,000.

	1-3
	(1)  American Eagle Outfitters had total assets of $1,950,802,000 at the end of the most recent year, whereas Urban Outfitters had total assets of $1,483,708,000.  Clearly American Eagle Outfitters is the larger of the two companies in terms of total assets at the end of the most recent year.

	1-4
	Req. 2:  Total Assets = $140,000.

	1-5
	Req. 1:  Assert the need for an independent audit of the financial statements each year, because this is the best way to assure credibility – conformance with GAAP, completeness, and absence of bias.

	1-6
	(4)  There is an ethics violation in this case because she would audit statements that covered a period of time where she was responsible for the accounting operations of the company. This is a problem both in appearance and in fact.

	1-7
	The solution to this case will depend on the company and/or accounting period selected for analysis.


CHAPTER 2





Mini-Exercises

	2-1
	(1)  F,   (2)  H,   (3)  G,   (4)  A,   (5)  I.

	2-2
	(1)  D,   (2)  C,   (3)  A,   (4)  I,    (5)  B.

	2-3
	(1)  N,   (2)  N,   (3)  Y,   (4)  Y,   (5)  Y,  (6)  N.

	2-4
	(1) CL,  (3)  NCA,  (5) SE,  (7) CA,  (9) NCA,   (11) CA,   (13) SE,   (15) CL

	2-5
	(b)  Cash -$10,000.  Notes Receivable +$10,000.

	2-6.1
	Assets: Debit: increases; Credit: decreases.

	2-7.2
	Liabilities: an Increase is recorded as a Credit; a Decrease is recorded as a Debit.

	2-8
	(d)  Equipment (+A)                15,000

            Cash (-A)                                          5,000

            Notes Payable (+L)                        10,000

	2-9
	Cash has a $14,400 debit balance.

	2-10
	Total Debits = $55,500

	2-11
	Total Assets = $55,500

	2-12
	2011: Current Ratio = 1.806  

2012:  Current Ratio = 1.080

	2-13
	(a)  F,   (b)  I,   (c)  F,   (d)  I,   (e)  F


Exercises

	2-1
	 (1)  E,    (3)  B,     (5)  K,     (7)  L,      (9)  I,   

(11)  O,  (13)  C,   (15)  D,   (17)  N,   (19)  T.

	2-2
	Req. 1: (k)  Received: Investments (A);  Given: Cash (A)

	2-3
	(3)  Taxes Payable:  CL, credit balance.

	2-4
	(c)  Cash +10,000  Notes Payable +10,000

	2-5
	Req. 1:  (c) Liabilities: Dividends Payable +145 Stockholders’ Equity:  Retained Earnings  -145  

	2-6
	(e)  Land (+A)                                    13,000

           Cash (-A)                                             4,000

           Mortgage Notes Payable (+L)             9,000

	2-7
	Req. 1: (b) Cash (+A)                         345
                       Common Stock (+SE)               200
                       Add. paid-in capital (+SE)        145

	2-8
	Req. 1:  Cash has a debit balance of $66,000.

	2-9
	Req. 2:  Total Assets = $105,000.

	2-10
	Req. 2:  Total Assets = $72,000.

	2-11
	(a)  Cash (+A)                         70,000
           Common Stock (+SE)                   5,000

           Add. Paid-in capital (+SE)          65,000

	2-12
	(e)  Cash (+A)                                      53
            Equipment (-A)                                    53

	2-13
	Req. 2:  Cash has a debit balance of $11,200

	2-14
	Total Assets = $13,700

	2-15
	Req. 2:  Total Debits = $72,000

	2-16
	(c)  Purchased a Building for $40,000; paid $10,000 Cash and signed a $30,000 Note Payable for the balance.

	2-17
	Req. 2:  Equipment, credit $650.

	2-18
	(d)  Capital Expenditures (for property, plant, and equipment).  Investing Activity.  Negative Effect on Cash.

	2-19
	(d) Issuance of Stock. Financing activity. Positive Effect on Cash.

	2-20
	(5) Dividends paid go in the financing activities section of the statement of cash flows.


Problems

	2-1
	(12)  Cash and Cash Equivalents: Current Asset, Debit balance.

	2-2
	Req. 4:  (a)  Total Assets = $870,000

	2-3
	Req. 2:  (g) Cash, credit $3,000.  Intangibles, debit $3,000.

Req. 4:  Total Debits = $243,000.

	2-4
	(f)  Financing Activity, + Effect on Cash.

	2-5
	Req. 3:  Total Assets = $46,333.

	2-6
	Cash flow used in Investing Activities = ($3,175)


Alternate Problems

	2-1
	(5)  Cash and Cash Equivalents:  CA, Debit balance

	2-2
	Req. 4:  (a)  Total Assets = $739,000

	2-3
	Req. 4:  Total credits = $1,218,878 (in thousands).

	2-4
	(e), Investing Activity,  Negative Effect on Cash


Cases

	2-1
	(4)  Current Ratio =  3.18

	2-2
	(4)  Current Ratio =  2.56

	2-3
	(3)  As indicated in the statement of cash flows, American Eagle Outfitters paid $85,592,000 in dividends.  Urban Outfitters did not pay any dividends during the year.  Refer to the financing activities section of the statement of cash flows.

	2-4
	Req. 2:  (b) The total cash flows provided by financing activities were $34,157, mostly from the “Excess tax benefit on stock-based compensation” of $73,652.

	2-5
	The major deficiency in this balance sheet is the inclusion of the owner’s personal residence as a business asset. 

	2-6
	(3)  Current Ratio = 1.34 

	2-7
	Req. 1:  Total Assets = $141,000.

	2-8
	Req. 3:  In many cases of fraudulent activity, auditors are named in lawsuits along with the company.  If the auditors are found to be negligent in performing their audit, then they are liable.  However, in many frauds, the management at multiple levels of the organization is so involved in covering the fraud that it becomes nearly impossible for the auditors to detect the fraudulent activity.  In this case, it appears that top executives concocted a scheme to induce vendors to confirm false promotional allowance income by signing audit letters agreeing to the false amounts.  In audits, confirming balances or amounts with external parties usually provides evidence for the auditors on potential problem areas.  The auditors appropriately relied on this external evidence in performing their audit, not knowing it to be tainted or fraudulent.  

	2-9
	The solution to this team project will depend on the companies and/or accounting period selected for analysis.


CHAPTER 3
Mini-Exercises

	3-1
	(1)  G

	3-2
	Cash basis Net Income is $11,100

	3-3
	(b)  Sales Revenue $8,000

	3-4
	(i)   Repairs Expense $700  

	3-5
	(d)  Cash (+A)                          2,500
            Unearned Revenue (+L)           2,500

	3-6
	(f)   Accounts Payable (-L)    800  
            Cash (-A)                             800

	3-7
	(d)  Assets + $2,500.  Liabilities + $2,500.  Stockholders’ Equity NE.  Revenues NE.                 Expenses NE.  Net Income NE.  

	3-8
	(i)  Assets -$700, Liabilities NE. Stockholders’ Equity -$700, Revenues NE. Expenses +$700, Net Income -$700

	3-9
	Net Income is $10,600

	3-10
	(j) No effect on cash (NE); Direction/amount: (NE) 

	3-11
	Net Profit Margin Ratio is 18.9% for 2013 


Exercises

	3-1
	(2)  E.

	3-2
	Req. 1:  Cash Basis Net Income is $282,500 Accrual Basis Net Income is $61,870  

	3-3
	(b)  Interest Revenue is $12.50

	3-4
	(h)  Commission expense is $15,560

	3-5
	(a)   Assets +; Liabilities NE; Stockholders’ Equity +; Revenues NE; Expense NE; Net Income NE.   

	3-6
	(e)  Assets  -$22,737;  Liabilities  NE; Stockholders’ Equity -$22,737;  Revenues NE;  Expenses  NE;  Net Income  NE;

	3-7
	(e)  Inventory (+A) debit $32,305; Accounts Payable (+L) credit $32,305.  Debits equal credits.  Assets and liabilities increase by the same amount.

	3-8
	Req. 1:  (e) Cash (A+) debit $390,000; Unearned Pass Revenue (L+) credit $390,000.  Debits = Credits.  Since season passes are sold before Vail Resorts provides service, revenue is deferred until it is earned.  Assets and liabilities increase by the same amount.  

	3-9
	(2/14)  Wages Payable (-L), debit $2,300;                   Cash (-A), credit $2,300.

	3-10
	Req. 3:  Net Income is $2,950.

	3-11
	Net Income is $2,950.

	3-12
	Total cash from operating activities is $7,890.

	3-13
	Req. 1:  Cash has a $64,427 debit balance.

	3-14
	Req. 1:  Net Loss is $(1,793).

	3-15
	Req. 2: Net income is $5,050.

	3-16
	Req. 3:  Net Income is $2,000.

	3-17
	Req. 2:  Trade Accounts Receivable is missing a credit of $5,264.

	3-18
	(6)  Inventory item sold during the year is located on the Income Statement (Cost of Goods Sold).


Problems

	3-1
	(k)  Debit 1.   Credit 14.

	3-2
	(g)  Advertising Expense (+E, -SE), debit $350.  Cash (-A), credit $350.

	3-3
	Req. 1:  (d) Assets +; Liabilities NE; Stockholders’ Equity +; Revenues +; Expenses NE; Net Income +; It is an Operating Activity. 

	3-4
	Req. 3:  Net Income is $400.

	3-5
	Cash flow from financing activities is $41,200.

	3-6
	Req. 3:  Net income = $1,464 (in millions)

	3-7
	Req. 1:  (a) Journal Entry needed is:  Cash (+A), debit $596,042.  Admissions Revenue (+R, +SE), credit $596,042.


Alternate Problems

	3-1
	(p)  Debit 13.    Credit 1.

	3-2
	(i)   Accounts Receivable (+A), debit $14,500.   Service Revenue (+R, +SE), credit $14,500.

	3-3
	Req. 1:  (j)  Assets -;  Liabilities -;  Stockholders’ Equity  NE;  Revenues  NE;    Expenses NE;  Net Income NE;  Operating Activity.  

	3-4
	Req. 3:  Net Income is $39,420.

	3-5
	Cash flow from financing activities $59,500.

	3-6
	Req. 3:  Net income = $32,554 (in millions)


Cases

	3-1
	(2)  Assuming all net sales are on credit, American Eagle Outfitters collected $3,156,229,000 from customers. 

	3-2
	(4)  Urban Outfitters’ Net Profit Margin Ratio for 2012 is 7.5%.  

	3-3
	(2)  Urban Outfitters had the higher net income of $185,251 for the year ended January 31, 2012, compared to American Eagle Outfitters’ net income of $151,705 for the same year (all dollars in thousands).  

	3-4
	Req. 1:  American Eagle Outfitters’ Net Profit Margin Ratio for 2012 is 4.8%.

	3-5
	Req. 3:  Congress and the SEC have adopted reforms to attempt to address the rising concerns about financial reporting. The article suggests that many of the reforms will not help to make financial statements clearer and more consistent.  Instead, many of the reforms are aimed at policing managers and auditors and not at clarifying estimates that managers make.

	3-6
	Req. 3:  Net Income is $23,000.

	3-7
	Req. 1:  This type of ethical dilemma occurs quite frequently.  The situation is difficulty personally because of the possible repercussions to you by your boss, Mr. Lynch, if you do not meet his request.  At the same time, the ethical and professional response is to follow the revenue recognition rule and account for the cash collection as deferred revenue (as was done).  To record the collection as revenue overstates income in the current period.


CHAPTER 4

Mini-Exercises

	4-1
	Total for the adjusted trial balance is $5,270.

	4-2
	(1)  D.

	4-3
	(3)  A.

	4-4
	(a)  The Adjusting Entry is:    
       Unearned Rent Revenue (-L)     300
             Rent Revenue (+R, +SE)                 300

	4-5
	(b)   Assets -$3,200.   Liabilities NE.             

       Stockholders’ Equity -$3,200. Revenues NE.  

       Expenses +$3,200.  Net Income -$3,200.

	4-6
	(c)  The adjusting entry is:   
      Wages Expense (+E, -SE)         8,000                     

            Wages Payable (+L)                        8,000

	4-7
	(b)  Assets +$280.   Liabilities NE. 
      Stockholders’ Equity +$280.  Revenues +$280.  
      Expenses NE.  Net Income +$280.

	4-8
	Net Income is $5,270.

	4-9
	Stockholders’ Equity on Dec. 31, 2015 is $10,970.

	4-10
	Total Assets = $20,490.

	4-11
	Total Asset Turnover is 2.11.

	4-12
	In the closing entry:  Retained Earnings is credited $5,270.


 Exercises
	4-1
	The Unadjusted Trial Balance total is $3,284,990.

	4-2
	Req. 2:  Temporary Accounts that accumulate during the period are closed at the end of the year to the permanent account Retained Earnings.  These include:  Product Revenue, Service Revenue, Interest Revenue, Cost of Products, Cost of Services, Interest Expense, Research and Development Expense, Selling, General, and Administrative Expense, Other Expenses, and Income Tax Expense.   

	4-3
	Req. 1:  The annual reporting period for this company is January 1 through December 31, 2014.

	4-4
	Req. 4:  The account balances on the 2014 Balance Sheet would be:  Prepaid Insurance $4,200.   Shipping Supplies $20,000.

	4-5
	E4-4 (b) Assets -$68,000.  Liabilities NE. Stockholders’ Equity -$68,000. Revenues NE.  Expenses +$68,000.  Net Income -$68,000.

	4-6
	Req. 1:  (e) Deferred Expense.

	4-7
	Req. 1:  (g) Accrued Expense.

	4-8
	(f)  Assets NE.  Liabilities -$3,200.  Stockholders’ Equity +$3,200.   Revenues +$3,200.  Expenses NE. Net Income +$3,200.

	4-9
	(d)  Assets NE.   Liabilities -$750. Stockholders’ Equity +$750.   Revenues +$750.  Expenses NE.  Net Income +$750.

	4-10
	(h)  Debit:  L, $56,000.   Credit:  K, $56,000.

	4-11
	Balance Sheet:  Net book value of equipment is $22,500.

	4-12
	Jan 31, 2015, Payment of Note 2:  Assets -$31,800.   Liabilities -$31,500. Stockholders’ Equity -$300.  Revenues NE. Expenses +$300.  Net Income -$300

	4-13
	Req. 2:  (a) Cash paid is $1,412.

	4-14
	Req. 1:  (b) No entry was made.  The adjusting entry that should have been made on Dec 31 is:       

Depreciation Expense (+E, -SE)    15,000  
     Accumulated Depreciation (+XA, -A)    15,000

	4-15
	Correct balance for Total Assets is $166,000.

	4-16
	Req. 2:  Correct amount for Total Assets is  $80,000

	4-17
	Req. 2:  Net Income is $21,030

	4-18
	Req. 2:  On the Adjusted Trial Balance, total debits are $188 (in thousands).

	4-19
	Net Income is $19 (in thousands).

	4-20
	Req. 2:  In the closing entry, Retained Earnings is credited for $19.


Problems

	4-1
	Req. 1:  Adjusted Trial Balance total is $105,922.

	4-2
	Req. 1:  (b) Accrued Expense.

	4-3
	Req. 1:  (f) Deferred Expense.

	4-4
	Req. 1:  (h) Accrued Expense.

	4-5
	Req. 1:  (e) Accrued Revenue.

	4-6
	Req. 5:  In the closing entry, Retained Earnings will be credited for $3,240.

	4-7
	Req. 2:  Net Income is $16,720


Alternate Problems

	4-1
	Req. 1:  The Adjusted Trial Balance total is $21,939 (in millions).

	4-2
	Req. 2:  (e) Unearned Service Revenue (-L), debit $700.  Service Revenue (+R, +SE), credit $700.

	4-3
	Req. 2:  (c) Insurance Expense (+E,-SE), debit $200.  Prepaid Insurance (-A), credit $200.

	4-4
	Req. 1:  (e) Deferred Revenue

	4-5
	Req. 1:  (d) Accrued Expense

	4-6
	Req. 2:  After posting the adjusting entries, Net Income is $12,100.

	4-7
	Req. 2:  Total Assets = $44,950.


Comprehensive Problems

	4-1
	Req. 4:  Net Income is $41,000

	4-2
	Req. 4:  Total Assets = $74,000


Cases

	4-1
	(5)  Total Asset Turnover for 1-28-2012 is 1.650.

	4-2
	(4)  Accrued Liabilities would consist of costs that have been incurred by the end of the accounting period, but which have not yet been paid.

	4-3
	(4)  Both accounting policies are similar indicating that advertising costs are expensed when the marketing campaigns become publicly available. Urban Outfitters capitalizes expenses associated with direct-to-consumer advertising (catalogs) and amortizes these expenses over the expected period of future benefits.   (The policies are disclosed in note 2 in both annual reports).

	4-4
	(1)  Rent Revenue.  Balance at end of 2014 is $510,000.  Reported on the Income Statement.  The Effect on Cash Flows is + $500,000.

	4-5
	Req. 5:  Average issue price is $5 per share

	4-6
	Transaction A:  (3) The Net Book Value of the Office Equipment reported on the Balance Sheet at December 31, 2016 is $11,000.

	4-7
	Req. 2:  (1) Memo to Crystal Mullinex should include the following:  Net Income was overstated by $122,525 because of inappropriate recognition of revenue (overstated by $113,000) and expenses (understated by $9,525).     

	4-8
	Req. 4:  (a) Unadjusted Earnings per share is $3.80 per share.  Adjusted Earnings per share is $0.95 per share.

	4-9
	Req. 3:  Unearned Subscriptions Revenue is $29,000 on March 31, 2016.

	4-10
	The solution to this team project will depend on the companies and/or accounting period selected for analysis.


Chapter 5
Mini-Exercises

	5-1
	(4)  A.

	5-2
	(1) Earnings Press Release.  

	5-3
	(3)  A.

	5-4
	(b)  Current Assets, NE; Gross Profit, NE; Current Liabilities, +.   The journal entry debits Advertising Expense $10 and credits Accounts Payable for $10.  Advertising Expense is not included in Cost of Goods Sold, so it has no effect on Gross Profit.  

	5-5
	(b)  Under Assets:  Cash + $60,000.  Under Stockholders’ Equity:  Common Stock +$5,000 (calculated as $1 par value ( 5,000 shares).  Additional paid-in capital +$55,000 (calculated as $60,000 cash - $5,000 common stock).

	5-6
	(a)  The journal entries to record the sale are:

Accounts Receivable (+A)             1,800

     Sales Revenue (+R, +SE)                      1,800

Cost of Goods Sold (+E, -SE)        1,200

     Inventory (-A)                                        1,200

	5-7
	Return on Assets (ROA) is 0.111 or 11.1%


Exercises
	5-1
	(7)  C.

	5-2
	(6)  A

	5-3
	(3)  B and F

	5-4
	Current Liabilities is number 6.

	5-5
	Total Assets = $6,862 (in millions).

	5-6
	Total Current Assets = $388,028 (in millions).

	5-7
	(10) G

	5-8
	Net Income is $8,450

	5-9
	Net earnings per share = $3.78

	5-10
	Case A: Cost of goods sold = $425

	5-11
	Case D:  Gross Margin is $350

	5-12
	Additional Paid-in Capital is $343,879 

	5-13
	Req. 1. Ending Retained Earnings is $256 M.

	5-14
	(a)  Current Assets +$2,449.3;  Gross Profit +$2,449.3;   Current Liabilities NE.

	5-15
	(a)  Current Assets NE;  Gross Profit NE;  Current   

       Liabilities NE; Cash Flow from Operating 

       Activities +40.8.  The journal entry would be:

       Cash (+CA)                                 40.8 

             Accounts Receivable  (-CA)          40.8

	5-16
	Cash Flow from Financing Activities = $54,000

	5-17
	Req. 2:  The increase in ROA is caused by increases in both net profit margin and asset turnover (from 0.119 to 0.121 and from 0.854 to 0.923, respectively).  The company’s profit margin and efficiency appear to have increased with the economic recovery.

	5-18
	Req. 1.  The increase in ROA from 0.141 in the prior year to 0.147 in the current year means that the firm earned $0.006 more for each $1 of investment.

	5-19
	(a) Net profit percentage = (NE); Return on Assets = (+); Current ratio = (-); The journal entry is:

Notes payable (long-term) (–L)     2,000

      Cash (–A)                                             2,000


Problems

	5-1
	(20)  S.

	5-2
	(16)  K.

	5-3
	Total Assets = $377,500.

	5-4
	Total Stockholders’ Equity on 12/31/2015 is $200,500.

	5-5
	Net Income is $69,515 (in thousands).

	5-6
	(a)  Earnings Per Share is $0.86

	5-7
	Req. 1:  (d) Gross Profit NE.   Operating Income (Loss) NE.  Return on Assets +.

	5-8
	Req. 1 (a) Total Asset Turnover (-); Return on Assets (-); Gross Profit Percentage (NE).

	5-9
	Net (Loss) Income is $125.2 in thousands 


Alternate Problems

	5-1
	Req. 1:  Total Assets = $375,700.

	5-2
	Total Stockholders’ Equity on 12/31/2015 is $240,000.

	5-3
	(a)  Net Income is $21,420.

	5-4
	Req. 1:  (a) Operating Income (Loss) NE.   Net Income +.   Return on Assets +.  


Cases

	5-1
	(4)  Website sales are recorded “upon the estimated customer receipt date of merchandise” (See Note 2 under Revenue Recognition).

	5-2
	(5)  Buildings are depreciated over useful lives of 39 years.  This is disclosed in Note 2.

	5-3
	Req. 2:  American Eagle Outfitters’ ROA is 0.079.

	5-4
	(1)  Gross margin on sales = $105,000

	5-5
	(b)  Current Period ROA -; Future Periods’ ROA +.  The advertising expense would decrease income and ROA in the current year.  Assuming that the movie earns a greater income in future periods because of the advertising, net income will increase, increasing ROA in future periods.  

	5-6
	(7)  Net Income 2013 (NE); Net Income 2014 (NE).  Assets 2013 (Understated by $8,000); Assets 2014 (NE).  Liabilities 2013 (Understated $8,000); Liabilities 2014 (NE).  

This transaction should have been recorded in 2013 as a debit to Land and a credit to a Liability for $8,000.  Therefore, at the end of 2013 both assets and liabilities were understated by $8,000.  The entry in 2014 corrected the accounts. 

	5-7
	(3)  Bonuses tied to performance measures such as accounting earnings tend to align the managers’ interests with those of the shareholders.  However, when companies face a significant downturn, and bonuses will not be awarded, some dishonest managers attempt to meet performance goals by falsifying accounting numbers.

	5-8
	The solutions to this case will depend on the company and/or accounting period selected for analysis.


Chapter 6

Mini-Exercises

	6-1
	(c)  Revenue is recognized at Point B, On completion of flight

	6-2
	If the buyer pays within the discount period, the income statement will report $9,405 as net sales.

	6-3
	Net Sales (on the income statement): $20,354.50

	6-4
	(b)  Bad Debt Expense, debit $16,000;  Allowance for Doubtful Accounts, credit $16,000

	6-5
	(a)  Under Assets:  Allowance for Doubtful Accounts -$15,000.  Under Stockholders’ Equity:  Bad Debt Expense -$15,000.

	6-6
	(b)  + Increased effectiveness of collection methods.

	6-7
	(c)  Add Deposits in transit to the Bank Statement balance.

	6-8
	An $6,000 credit sale with terms, 3/10, n/30, should be recorded as follows:  
Accounts Receivable (+A)              6,000 
       Sales Revenue (+R, +SE)                      6,000
This entry records the sale at the gross amount.  If the customer pays within the discount period, the entry for payment would be:

Cash (+A)                                    5,820
Sales Discounts (+XR,-R, -SE)      180
       Accounts Receivable (-A)                        6,000


Exercises

	6-1
	Sales Discount is $30.

	6-2
	Credit Card Discounts = $60.

	6-3
	Net Sales = $13,749.

	6-4
	Transaction on July 21:  Net Sales -$1,000. Cost of Goods Sold -$600. Gross Profit -$400.

	6-5
	Req. 1:  Annual Interest Rate is 28.22%

	6-6
	(b)  Allowance for Doubtful Accounts, debit $4,000.  Accounts Receivable, credit $4,000.

	6-7
	(a)  Bad Debt Expense, debit $100,000.  Allowance for Doubtful Accounts, credit $100,000.

	6-8
	(a)  Under Assets:  Allowance for doubtful accounts, -$100,000.   Under Stockholders’ Equity:  Bad debt expense, -$100,000.

	6-9
	Req. 2:  (b) Net Sales, NE;  Gross Profit, NE;  Income from Operations, NE.

	6-10
	Bad Debt Expense for the year is $1,322.

	6-11
	Req. 1:  Bad Debt Expense for the year is $4,180.

	6-12
	Req. 1:  The journal entry includes an $18,725 credit to Allowance for Doubtful Accounts.

	6-13
	(2)  It would have no effect because the asset “Accounts Receivable” and contra-asset “Allowance for Doubtful Accounts” would both decline by Euro 10 million.  Neither “Receivables, net” nor “Net Income” would be affected.

	6-14
	Req. 2:  Cash collections = $58,081.

	6-15
	Req. 2: Cash collections = $67,956.

	6-16
	Req. 1:  The amount of bad debt expense is $154,000 (in thousands). 

	6-17
	Req. 3:  The 1.5% rate on credit sales may be too low because it resulted in bad debt expense only two-thirds the amount of receivables written off ($1,700) during the year. However, if the uncollectible account receivable written off during 2014 is not indicative of average uncollectibles written off over a period of time, the 1.5% rate may be appropriate. There is not sufficient historical data to make a definitive decision.

	6-18
	Req. 2:  The amount of Bad Debt Expense reported on the Income Statement would be $500.


	6-19
	Req. 1:  Average days sales in receivables are 40.6 days.

	6-20
	Req. 1:  The Receivables Turnover would be 9.5722 times.

	6-21
	Req. 1:  The change in the accounts receivable balance would increase cash flow from operations by $15,337 thousand.  This happens because the company is collecting cash faster than it is recording credit sales.

	6-22
	Req. 1:  Correct cash balance is $5,560.

	6-23
	Req. 4:  Cash reported on the balance sheet dated September 30, 2014 is $5,470.

	6-25
	The journal entry to record the credit card sale on November 20, 2013 would be:

Cash (+A)                                             441
Credit Card Discount (+XR, -R, -SE)      9
       Sales Revenue (+R, +SE)                            450


Problems

	6-1
	Case A:  The correct point for revenue recognition in this case is when the customer uses the coupon or when the coupon expires and Wendy’s has no further obligation.

	6-2
	Req. 2:  The amount of Bad Debt Expense reported on the Income Statement is $1,155.

	6-3
	(2)  The write-offs for Year 2 = $36.

	6-4
	Req. 2:  Bad Debt Expense for the year is $3,741.

	6-5
	Req. 1:  Net Income is $17,920.

	6-6
	Req. 1:  Correct Cash Balance is $24,870.

	6-7
	Req. 3:  Correct Cash Balance is $22,600.

	6-8
	Req. 2:  Net Sales Revenue is $309,320.


Alternate Problems

	6-1
	Req. 2:  Net Sales Revenue is $300,570.

	6-2
	(2)  Allowance for Doubtful Accounts Balance at End of Year 3 is $1,181.

	6-3
	Req. 3:  Bad Debt Expense, debit $2,725.

	6-4
	Req. 1:  Net Income is $21,100

	6-5
	Req. 3:  Correct Cash Balance is $65,860.


Cases

	6-1
	(3)  Receivables Turnover is 82.0 times.

	6-2
	(3)  The accounts receivable are primarily due from wholesale customers and credit card customers. Bad debt expense increased between 2010 and 2011 from $2,397 to $3,920. These amounts are disclosed in Note 2 of the annual report.

	6-3
	(3)  The current year’s Receivables Turnover Ratio for Urban Outfitters is 67.6.

	6-4
	(2)  If the company regularly started and completed a larger constant number of equal sized projects each reporting period, the size of any difference between revenues reported under the two methods would decline.

	6-5
	(2)  It should establish a sales returns and allowances account (a contra revenue account) for potential cancellations. An estimate of future cancellations should be made and the amount should reduce net sales in the period the revenue is recognized.

	6-6
	Req. 1:  Total approximate amount stolen is $4,820

	6-7
	The solutions to this case will depend on the company and/or accounting period selected for analysis.


Chapter 7

Mini-Exercises

	7-1
	Finished Goods Inventory, Manufacturing Business.

	7-2
	Debit Inventory for $2,150

	7-3
	The wages of factory workers are included as part of inventory cost.

	7-4
	Purchases = $10,745 million

	7-5
	(a)  When costs are declining, the highest Net Income and the highest Ending Inventory will be reported using LIFO.

	7-6
	LIFO is often selected when costs are rising because it reduces the company’s tax liability, which increases cash and benefits the stockholders.  However, it also reduces the reported net income.

	7-7
	The total Inventory amount reported on the balance sheet is $8,800.

	7-8
	(c)  +.  Shorten the production process from 10 days to 8 days.

	7-9
	Understatement of the 2014 ending inventory by $50,000 caused 2014 pretax income to be understated and 2015 pretax income to be overstated by the same amount.


Exercises

	7-1
	(b)  The +$1,800 of samples out on trial to a customer should be included in the vendor’s ending inventory.

	7-2
	Case C:  Ending Inventory is $9,300.

	7-3
	Case D:  Cost of Goods Sold is $400.

	7-4
	Purchases = $1,823,149,000.

	7-5
	Cost of Goods Sold under LIFO is $42,000

	7-6
	Cost of Goods Sold under FIFO is $36,000

	7-7
	(2)  Goods available for sale (for both cases) is $222,000.

	7-8
	Req. 1:  Case B (LIFO):  Ending Inventory is $80,000.

	7-9
	Req. 1:  Using FIFO, Net Income is $67,550.

	7-10
	Req. 2:  Using Average Cost, Pretax Income is $4,670.

	7-11
	Inventory valuation (LCM) should be $6,980.

	7-12
	Inventory valuation (LCM) should be $4,875.

	7-13
	Req. 1: Average days to sell inventory = 10.2 days

	7-14
	Case A (FIFO): Cost of Goods Sold is $1,028.

	7-15
	Req. 1:  The reported ending inventory for Ford was $5,901 million.  If FIFO were used exclusively, the ending inventory would have been $928 million higher than reported, or $6,829 million.

	7-16
	Req. 1:  Net Income for 2014 is Overstated.

	7-17
	Req. 1:  Corrected income is $20,506,758.

	7-18
	Req. 1:  The $600 understatement of ending inventory produced pretax income amounts that were incorrect by the amount of $600 for each quarter.  However, the effect on pretax income for each quarter was opposite (i.e., the first quarter pretax income was understated by $600, and in the second quarter, the pretax income was overstated by $600).  This self-correcting error produces a correct combined income for the two quarters.

	7-19
	Increases in inventory cause cash flow from operations to decrease by $455 million.

	7-20
	Req. 2:  When FIFO is used, a decline in inventory quantity will not result in the dramatic increase in net income that was discussed in requirement (1) because FIFO inventory costs are represented by the most recent purchases.  

	7-21
	Req. 1:  (b) First-in, first-out (FIFO) Perpetual cost of goods sold = $7,050.

	7-22
	Req. 6: 
Accounts payable (-L)                 9,000

      Cash (-A)                                           9,000


Problems

	7-1
	(e)  Goods purchased and in transit, F.O.B. shipping point, are owned by the purchaser and should be added to the purchaser’s ending inventory.  Therefore, add the $3,550 to inventory.

	7-2
	(a)  Total cost of Goods Available for Sale is $4,060 under all methods.

	7-3
	Req. 1:  Cost of Goods Sold using LIFO is $4,040.

	7-4
	Req. 1:  Ending Inventory is $180,000.

	7-5
	Req. 1:  (a) When prices are rising, ending inventory using FIFO is $2,400.

	7-6
	Req. 1:  Net Income is $41,195.

	7-7
	Req. 2:  The projected decrease in inventory is $197,890.

	7-8
	Req. 1:  Use of FIFO would result in an increase in net income of $11.2 million.

	7-9
	Req. 3:  Income Tax Expense was overstated by $5,400 in 2015 and understated by $5,400 in 2016.

	7-10
	Req. 2:  Since prices are rising, LIFO liquidations increase net income before taxes.  The change in pretax operating profit during the current year is given in the footnote as $23 million.  As a consequence, net income before taxes would be $23 million lower had there been no inventory quantity reduction.


Alternate Problems

	7-1
	(a)  Total cost of Goods Available for Sale is $53,475 under all methods.

	7-2
	Req. 1:  (a) Using the weighted average method, Cost of Goods Sold is $2,256. 

	7-3
	Req. 1:  (a) When prices are rising the ending inventory under FIFO will be $2,400

	7-4
	Req. 3:  The income tax expense would have been understated by $600 in 2015 and overstated by $600 in 2016.


Cases

	7-1
	Req. 4: Inventory turnover for American Eagle Outfitters is 5.98.

	7-2
	Req. 3:  If the company had overstated its ending inventory by $10 million, its income before income taxes would be overstated by $10 million. 

	7-3
	Req. 1:  Inventory Turnover for Urban Outfitters is 6.73.

	7-4
	Req. 1:  Production costs included in inventory become cost of goods sold expense on the income statement in the period the goods are sold.

	7-5
	Req. 1:  In 2010, the amount reported for inventories under FIFO would be $12,162.

	7-6
	Req. 1:  The press release states that management believes LIFO is more appropriate because it better matches current costs with current revenues, and also mentions that there are tax benefits to adopting LIFO for tax purposes.

	7-7
	The company understated purchases by $47.3 million, which caused cost of goods sold to be understated and pretax income to be overstated by $47.3 million.  Net Income is overstated by that amount times 1 - tax rate.  Net Income is overstated by ($47.3) x (1 - .404) = $28.2 million.


Chapter 8

Mini-Exercises

	8-1
	(3) NR, DP.

	8-2
	Young’s Fixed Asset Turnover Ratio is 1.89

	8-3
	(8)  C.

	8-4
	Accumulated Depreciation at the end of the third year is $18,000.

	8-5
	Net Book Value at the end of the third year is $11,880.

	8-6
	Accumulated Depreciation at the end of the third year is $8,875.

	8-7
	(c)  Impairment, Yes.  Loss of factory building, $31,000.

	8-8
	Gain on sale of store fixtures, credit $50.

	8-9
	Elizabeth Pie Company’s management may choose to accept the offer of $5,000,000 as this amount is more than the $4,800,000 market value of separately identifiable assets and liabilities.  If so, goodwill of $200,000 would be recorded on the purchase date.

	8-10
	Cash provided by operating activities, $23,500.


Exercises

	8-1
	Total Assets, $4,131 (in millions).

	8-2
	Req. 1:  Fixed Asset Turnover Ratio for 2009 is 13.51.

	8-3
	Req. 2:  Straight-line depreciation for one year, $9,100.

	8-4
	Req. 2:  Acquisition cost of the machine is $24,500.

	8-5
	Req. 1:  The adjusting entry for 2013, Depreciation Expense, debit $7,200.  Accumulated Depreciation, credit $7,200.

	8-6
	2b:  For 2014:  Under Assets:  Cash -$13,000.   Equipment +$13,000.

	8-7
	Req. 1:  (c) Double-Declining-Balance year 4 depreciation expense, $125.  Note:  Book Value cannot be below the residual value.

	8-8
	Req. 1:  (c) Double-Declining-Balance Depreciation Expense, Year 3, $136,800.

	8-9
	Management of General Motors Corporation probably anticipated that the pre-2001 property and equipment would be more productive or efficient in the earlier part of their lives.  Thus, an accelerated depreciation method would provide the best matching of expenses with revenues in the same period.  In 2001, however, General Motors’ management may have recognized a change in the revenue-generating capacity of the property and equipment, such that a better matching would occur using the straight-line depreciation method, in which equal amounts of depreciation expense would be computed each period.

	8-10
	Managers often prefer the straight-line method because it results in lower depreciation expense and higher net income in the earlier years of an asset’s life when compared with the accelerated methods.  Since straight-line depreciation results in higher income in the early years, it also would result in higher taxes in the earlier years of the asset’s life.  In any case, the tax code specifies that MACRS, an accelerated method, must be used for most tangible depreciable property placed in service after December 31, 1986.  It is important to note, that, over the entire useful life of an asset, total depreciation expense is the same regardless of the depreciation method used.  

	8-11
	Req. 1:  Units-of-Production depreciation expense for year 2, $33,750.

	8-12
	Req. 1:  The journal entry to record the sale of property and equipment includes:  Gain on sale of property and equipment, credit $36.

	8-13
	Req. 1(c): Loss on sale of long-lived asset, $500. 

	8-14
	Req. 1(b):  Gain on sale of long-lived asset, $600,000.

	8-15
	Req. 1:  Estimated useful life, 8 years.

	8-16
	Req. 2:  Depletion for 2015, $52,200.

	8-17
	Req. 3:  Total Amortization Expense reported on the Income Statement for 2013, $17,900.

	8-18
	Req. 3:  Balance Sheet at 12/31/2014, Total for Intangible Assets, $120,050.

	8-19
	Req. 2:  Leasehold Improvements, credit $32,500.

	8-20
	(2) Location is the Balance Sheet or the Notes to the financial statements.

	8-21
	Net book value on Jan 2, 2014 is $75,400.

	8-22
	Req. 3:  Depreciation Expense for 2014 after the major renovation, $4,800.

	8-23
	Req. 2:  Depreciation Expense after the change in estimates, $13,500 per year.


Problems

	8-1
	Req. 2:  Equipment cost,   $86,860.

	8-2
	Req. 2:  Net Book (or carrying) Value, $779,500.

	8-3
	Req. 2:  Depreciation Expense, debit $10,000.

	8-4
	Req. 1:  Depreciation Expense, $699.

	8-5
	Req. 1 (c):  Accumulated Depreciation balance, end of year 2, $30,107.

	8-6
	Req. 1 (b) (2):  Gain on disposal of machine, credit $1,900.

	8-7
	Req. 2:  Cash proceeds from disposals and transfers, $836.6

	8-8
	Req. 2:  (c) No amortization on the leasehold improvements this year, since improvements were constructed on December 31.

	8-9
	Req. 1:  Goodwill, $132,000.

	8-10
	Req. 1 (b):  Copyright amortization for one year, $2,250.

	8-11
	Req. 1 (b):  Book Value at end of 2013, $295,000.


Alternate Problems
	8-1
	Req. 2:  June 1, 2013, Additional paid-in capital, credit $8,000.

	8-2
	Req. 2:  Book value of building, $318,000.

	8-3
	Req. 2:  Depreciation Expense, debit $18,435.

	8-4
	Req. 1:  Depreciation Expense, $634 M.

	8-5
	Req. 1 (b) (2):  Loss on disposal of machine, debit $3,900.

	8-6
	Req. 2 (b):  Leasehold Improvements amortization expense to be recorded on December 31, 2015, $3,560.

	8-7
	Req. 2 (b):  Book value of patent, Jan 1, 2017, $13,020.


Cases

	8-1
	(5)  Fixed Asset Turnover ratio, 5.16

	8-2
	(6)  Fixed Asset Turnover ratio, 3.89

	8-3
	(1)  Fixed Assets as a % of Total Assets of American Eagle Outfitters is 29.8%.

	8-4
	Req. 2:  Average Age is 8.65 years.

	8-5
	Req. 2:  The approximate age of the property on that date was 4 years.

	8-6
	Cash proceeds when property was sold are $97.

	8-7
	Req. 2:  Hess did not include the capitalized interest in its reported interest expense. Instead this amount was included in an asset account and will be included in depreciation expense over the life of the asset.  Most analysts include interest expense and capitalized interest when calculating the coverage ratio. Interest must be paid to the creditor whether it is listed as an expense or capitalized. This case is a good example of why users of financial statements must understand accounting and where to find information in the statements.

	8-8
	Req. 2:  The Fixed Asset Turnover Ratio is 0.21 for Q1 Yr 2.

	8-9
	Req. 1 (b):  Fixed asset turnover ratio is lower (-) because the denominator is higher due to interest capitalization.

	8-10
	Due to the nature of this project, responses will vary.


Chapter 9

Mini-Exercises

	9-1
	The second year, $11,000.

	9-2
	Dec 31:  Interest Expense, debit $7,250.

	9-3
	1:  Computed from balance sheet data.

	9-4
	Working capital = $30,000

	9-5
	(b) Working Capital, Decreases.

	9-6
	2017:  Buzz must record the loss and the liability because the out of court settlement made the $150,000 loss probable.

	9-7
	$231,600.

	9-8
	$92,169.

	9-9
	Total is $380,442.

	9-10
	It is much better to save $16,250 each year for 10 years.

	9-11
	X = $17,039.


Exercises

	9-1
	Req. 1:  Working capital is $65,600.

	9-2
	Req. 2:  Entry on March 31 would consist of a debit to Payroll Tax Expense of $15,000 and a credit to FICA taxes payable – employer of $15,000.

	9-3
	Req. 2:  FICA taxes payable, $12,000.

	9-4
	Req. 2:  Interest Expense, debit $64,000.

	9-5
	Req. 1: Dec 31: Assets, Not affected; Liabilities, Interest Payable +; Stockholders’ Equity, Interest Expense -.

	9-6
	Analysts want to evaluate the short term obligations of a business in order to assess liquidity.  The key condition that must be satisfied for a short-term borrowing to be classified as long-term is the assurance that the debt can be refinanced.  A desire or a plan is not sufficient; there must be evidence that the company has the capability to do so.

	9-7
	Current liabilities = $420,000.

	9-8
	Req. 2:  August 31, Cash paid $47,250 (Principal plus interest)

	9-9
	The note does not give us sufficient information to reach a definitive conclusion.  No obligation for future payments is recorded if the lease is short-term, but the note indicates that the leases are long-term and are designed to provide long-term occupancy rights.  The critical issue is whether the leases meet one of the criteria to be classified as a capital lease, in which case, the present value of the lease payments would be recorded as a liability.

	9-10
	The question of whether a lease will be recorded as a liability depends on the specific facts and circumstances associated with the lease.  A short-term lease probably would not have to be recorded as a liability, but a long-term lease would probably be recorded as a liability.  The assistant is correct in the sense that assets could be acquired under a lease and, if the transaction is structured in the proper manner, no liability would be recorded.

	9-11
	Req. 1:  Year 2014:  Income Tax Payable is $250,000.  Deferred Income Tax increases $54,000.  The total Income Tax Expense is $304,000.

	9-12
	Req. 1:  Income Taxes Payable = $472,000.

	9-13
	Req. 1:  For each year, income tax expense is less than income taxes currently payable.  Deferred taxes do not always result in lower taxes payable when compared to income tax expense.

	9-14
	Req. 3:  $46,188.

	9-15
	The winner should select the cash payment.  The PV of the Annuity is $97,368.

	9-16
	Deposit an additional $201,900.

	9-17
	PV of the Annuity is $64,794.

	9-18
	Present value of unequal payments, $80,539.

	9-19
	PV of cash payments, $176,870.

	9-20
	Present Value, $2,030,420.

	9-21
	Present Value, $14,906.

	9-22
	Req. 2:  Time value of money or Interest, $9,562.

	9-23
	Req. 1:  $79,997.

	9-24
	Req. 2:  Balance, $30,386.

	9-25
	Req. 3:  Interest in year 3, $433.


Problems

	9-1
	Req. 2:  Interest expense, debit $31,500.

	9-2
	Req. 3:  Total Current Liabilities, $47,700.

	9-3
	Req. 2:  April 1, a financing activity, has no effect on operating activities.

	9-4
	Req. 2 (b):  Rent Revenue Collected in Advance (or Deferred Rent Revenue), credit $800.   

	9-5
	Req. 1 (c) Dec. 10: Assets: Cash +; Liabilities, no impact; Stockholders’ Equity, Rent Revenue +.

	9-6
	Req. 2:  For 2015:  Unearned Revenue, debit $54,000,000.

	9-7
	Req. 3:  Report a Liability.  The amount can be estimated and loss seems probable.

	9-8
	(c) Remain the same.

	9-9
	If management has the intent and ability to refinance a short-term liability borrowed on a long-term basis, it will not result in a cash outflow.  In this circumstance, it is appropriate to reclassify the debt as long term.

	9-10
	Req. 1: Deferred tax liability for 2014 is $17,000.

	9-11
	Req. 1:  Present value of debt, $103,947.

	9-12
	PV of Option 1 = $7,680,750.

	9-13
	Req. 1:  Annual deposit, $27,028.

	9-14
	Req. 1:  Interest earned = $13,265.


Alternate Problems 

	9-1
	Req. 3:  Total current liabilities, $908,000.

	9-2
	Req. 2 Cash from operating activities: April 30, No effect.

	9-3
	Req. 2:  In year 2014, no revenue has been earned.  The liability is $23 million.

	9-4
	(c) Decrease.

	9-5
	The contractual agreement allows General Mills to reclassify the current borrowings as noncurrent debt, which would improve the current ratio and other measures of liquidity.

	9-6
	Req. 2:  Total Interest Earned = $536,800.

	9-7
	Option 1 is best; it gives the highest return.

	9-8
	Req. 2:  The Fund balance on December 31, 2016, $1,048,992.


Cases

	9-1
	Req. 3: Long-term liabilities (called non-current in this report), $128,550,000.

	9-2
	Req. 1:  Accrued Compensation, $15,630,000.

	9-3
	Req. 2:  Urban Outfitters’ Accounts Payable Turnover Ratio is 18.1.

	9-4
	Req. 2:  If the monthly payments actually include principal and interest, the cash selling price is equal to the present value of the monthly payments, $118,669.

	9-5
	The jackpot does not have a present value of $3 million.

	9-6
	The response to this case will depend on the companies selected by the students.


Chapter 10

Mini-Exercises

	10-1
	(3)  Statement of Cash Flows

	10-2
	Issue price, $600,000.

	10-3
	Issue Price, $750,449.

	10-4
	June 30, 2014, Interest Expense, debit $51,700.

	10-5
	June 30, 2014, Discount on Bonds Payable, credit $1,000.

	10-6
	Issue Price, $567,958.

	10-7
	December 31, 2014, Premium on Bonds Payable, debit $2,000.

	10-8
	December 31, 2014, Interest Expense, debit $63,700.

	10-9
	Most analysts look at the times interest earned ratio as a measure of a company’s ability to meet its required interest payments.

	10-10
	If the interest rates fall after the issuance of a bond, the bond’s price will increase.  The company will report a loss on the debt retirement.

	10-11
	When a company issues a bond at a discount, the interest expense each period will be more than the cash payment for the interest.  When a company issues a bond at a premium, the interest expense will be less than the cash payment for the interest.  Neither is affected by the method used to amortize the discount or premium.

	10-12


	Cash paid to retire a bond is reported in the financing activities section of the Statement of Cash Flows. Cash paid for interest payments is reported in the operating activities section.


Exercises

	10-1
	(4) Stated rate, coupon rate, or contract rate.

	10-2
	If bonds with a $10,000 face value were purchased, the issue price would be $8,950 and they would provide a cash yield of 7.3%.   A decline in value after issuance of the bond would have no impact on AT&T’s financial statements.

	10-3
	Case B:  Issue price, $111,169.

	10-4
	Case C:  Issue price, $416,916.

	10-5
	Applied Technologies’ ratios look better than Innovative Solutions’ ratios.  Applied Technologies has a lower debt-to-equity ratio than Innovative Solutions, which means Applied Technologies is less leveraged and has less risk.

	10-6
	Issue price, $229,732.

	10-7
	Req. 1:  Cash, debit $701,862.

	10-8
	Req. 2:  Interest Expense, debit $24,651.

	10-9
	Req. 1:  Issue price, $580,016.

	10-10
	Req. 2:  Discount on Bonds Payable, credit $2,100.

	10-11
	Req. 2:  Discount, $52.

	10-12
	The effective interest rate (Market Rate) for a bond is determined by market forces and not the company.  It appears that American intended to sell the bonds close to par value, which would be achieved by having a coupon rate that was the same as the market rate.  The market rate of interest continually changes as the result of such factors as inflation expectations and the level of business activity.  It is virtually impossible to issue a bond at a point when the coupon rate and the market rate are exactly the same.

	10-13
	A zero-coupon bond pays interest only at maturity. Assuming that both companies offer the same business risk, many people might prefer the bond that had the slightly higher yield, which is Walt Disney at 9.5%. If interest rates were to fall significantly, companies might decide to call their bonds and issue new ones at a lower interest rate.  In this case, a zero coupon bond offers an extra margin of protection.

	10-14
	Req. 2:  Interest Expense, debit $43,717. 

	10-15
	Req. 2:  Interest Expense, debit $93,476.

	10-16
	Req. 2:  Interest Expense, debit $93,476.

	10-17
	Req. 1:  Issue price is $10,278.

	10-18
	Req. 1:  Premium on Bonds Payable, credit $76,774.

	10-19
	Req. 1:  Premium on Bonds Payable, credit $67,964.

	10-20
	Loss on Bond Call, debit $50,000.

	10-21
	Loss on Bond Call, debit $159,000.

	10-22
	(3) Impacts Statement of Cash Flows:  Report $57,000 payment in the operating activities section.


Problems

	10-1
	Req. 1 (d):  Interest Expense actual results, $3,600.

	10-2
	Req. 2:  Interest Expense on each interest payment is $20,000.

	10-3
	Req. 1 (a):  Cash received at issue, Case B, $490,000.

	10-4
	Req. 1 (a):  December 31, 2014, Case C, Interest Expense, $9,600. 

	10-5
	Req. 1:  Issue Price, $173,161.

	10-6
	Req. 2:  June 30, Interest Expense, $32,361.      

	10-7
	Req. 4:  Carrying Value of Bond Payable on December 31, $891,718.

	10-8
	Req. 2 (c):  2014, Interest Expense, $87,075.

	10-9
	Req. 2:  June 30, Interest Expense, $86,408.

	10-10
	Req. 1:  Issue Price, $725,765.

	10-11
	Req. 1:  Issue Price is $311,366.

	10-12
	Req. 4:  Premium on Bonds Payable, $808.

	10-13
	When a bond is sold for a premium, the amount of cash collected is greater than the maturity value.  This extra amount is called a bond premium.  Bond Premiums are amortized over the life of a bond.  When bond premium amortization is recorded, the amount of bond premium is reduced.   The recorded value for this liability is the maturity value plus the unamortized amount of the premium.  The reduction reported in the note is the result of the required amortization of the bond premium.  

	10-14
	Req. 3:  Financing, outflow.


Alternate Problems

	10-1
	Req. 4:  The amount reported for Bonds Payable for both 2014 and 2015 is $2,000,000.

	10-2
	Case B:  Net liability on the balance sheet at end of 2015, $97(000’s).

	10-3
	Req. 2:  2014 Interest expense, $85,564.

	10-4
	Req. 4:  Amount reported for bonds payable for 2014 will be $1,932,286. 

	10-5
	Req. 1:  Issue price, $934,983.

	10-6
	Req. 2:  2014 Interest expense, $270,340.


Cases

	10-1
	Req. 2:  Bonds must be reported unless the company has not issued any.  Therefore, the company must not have issued bonds.

	10-2
	Req. 3:  The notes disclose that the company has established an unsecured line of credit.

	10-3
	Req. 1:  Primary source of cash flow for both companies is from their operating activities.

	10-4
	Req. 2:  Principal, $130,760,000.  The bonds would sell for 32.69% of par value, which is $130,760,000 for bonds with a $400,000,000 face value.

	10-5
	People invest in different securities for a variety of reasons.  Bondholders are interested in fixed income and low risk and are willing to give up higher returns for lower risk.  It is not unethical to offer an investor a lower-risk, lower-return investment.

	10-6
	Some students approach this question with the perspective that people’s jobs are more important than people’s money.  The portfolio manager’s have a fiduciary responsibility to protect the interests of the investors.


Chapter 11

Mini-Exercises

	11-1
	Being able to vote is the most important of the rights because this ensures that the owners have an input at the stockholders’ meeting and some control of the management of the corporation, thus enabling them to protect their rights as stockholders.

	11-2
	The number of unissued shares is 90,000.

	11-3
	Cash, debit $3,570,000 in both cases.

	11-4
	Common stock is the basic voting stock issued by a corporation.  It ranks after preferred stock for dividends and assets distributed upon liquidation of the corporation.  Common stock has more potential for growth than preferred stock, if the company is profitable.

	11-5
	(3) Assets, increase $370,000; Liabilities, no change; Stockholders’ Equity, increases $370,000; Net Income, no change.

	11-6
	$130,000.

	11-7
	April 15, Retained Earnings, debit $65,000. 

	11-8
	Total to preferred stockholders, $800,000.

	11-9
	Stock split:  no change in assets, no change in liabilities, no change in common stock, no change in stockholders’ equity, decrease in market value.

	11-10
	Common Stock, credit $800,000.


Exercises

	11-1
	Shares outstanding, 1,725,908,666.

	11-2
	Req. 3:  Shares outstanding, 135,000.

	11-3
	Req. 1:  Total Contributed Capital, $380,000.

	11-4
	Req. 4:  EPS = $12.50

	11-5
	Req. 2:  Stockholders’ Equity, $149,000.

	11-6
	Req. 6:  Treasury stock cost per share, $25.26. 

	11-7
	Req. 2:  Stockholders’ Equity, $2,396,000.

	11-8
	Total Stockholders’ Equity at the end of 2011, $102,133.

	11-9
	Total Stockholders’ Equity, $3,240,000.

	11-10
	Req. 1 (b):  Common Stock, no par, credit $240,000.    

	11-11
	Req. 1:  Number of preferred shares issued, 10,000.

	11-12
	Req. 2:  Retained Earnings at the end of 2012, $75,626,400,000. 

	11-13
	Req. 3:  Shares held in treasury stock do not participate in dividend payments.  Thus, the purchase of treasury stock will reduce the amount of dividends that the company must pay in future years.

	11-14
	Req. 1:  Total Stockholders’ Equity, $907,000.

	11-15
	Req. 1 (c):  Capital in excess of par, debit $150.

	11-16
	Req. 3:  The sale of treasury stock for more or less than its original purchase price does not have an impact on net income.  The cash received from the sale of treasury stock affects only Balance Sheet accounts.  The sale of treasury stock is reported as a cash inflow from financing activities on the Statement of Cash Flows.

	11-17
	Req. 1:  Case 1, When companies unexpectedly announce increases in dividends, stock prices typically increase.

	11-18
	Req. 1 (b):  Total dividend to common shareholders - Cumulative, $70,000.

	11-19
	Effect of cash dividend (preferred) on assets:  no effect on declaration date, decreased by the amount of the dividend ($7,200) on payment date.  Effect of stock dividend (common) on assets:  no effect because no assets are disbursed.   

	11-20
	Number of shares outstanding, 345,844,300.

	11-21
	Req. 1:  Total stockholders’ equity before and after stock dividends, $1,060,000.

	11-22
	April 13, 2012:  Retained Earnings, debit $1,686,000,000.

	11-23
	Common stock both before and after a stock split and before a stock dividend, $600,000.  Capital in excess of par both before and after a stock dividend, $900,000.

	11-24
	Retained Earnings before a stock dividend and stock split and after a stock split, $2,100,000.  Retained Earnings after a stock dividend, $1,844,000.

	11-25
	Req. 1:  A corporation does not need to earn net income in a given year in order to declare and pay dividends.  There are two requirements: (1) the balance of Retained Earnings should be sufficient to pay dividends, and (2) there must be sufficient cash on hand.


Problems

	11-1
	(4)  Dividend per share, $1.01.

	11-2
	Total Contributed Capital, $639,000.

	11-3
	(a)  Contributed Capital in excess of Par, common, credit $264,000.

	11-4
	Req. 3:  In most cases, stockholders should not care whether stock is issued as par or no-par value stock.  The various types of stock do not offer any real economic advantages to investors.

	11-5
	Total Stockholders’ Equity, $1,580,000.

	11-6
	Req. 3:  The sale of treasury stock for more than cost has no impact on the reported income for a company.  The sale of treasury stock does affect the Statement of Cash Flows because the cash received from the sale is an inflow of cash from financing activities.

	11-7
	Req.1 Treasury Stock, debit $113.3

	11-8
	Req. 1:  Case C:  Total dividend to common shareholders, $54,000.

	11-9
	Req. 2:  Dell has a very aggressive program to repurchase stock from investors.  Some companies elect to pay out extra cash in dividends, while others use the cash to repurchase their stock.  Because fewer shares are outstanding, the reported EPS will be higher, which may be reflected in a higher stock price.

	11-10
	(c)  Cash Dividend on Preferred:  there are only two overall effects: (1) Assets, decreased $40,000 and (2) Stockholders’ Equity decreased $40,000.  Stock dividend on common has no effect on Assets, Liabilities, or Stockholders’ Equity. 

	11-11
	Req. 1:  The only journal entry necessary is on June 18:  Retained Earnings, debit $12,500;   Common Stock, credit $250; Capital in excess of par, credit $12,250.  (numbers are in millions.)

	11-12
	Req. 2:  Case C: Total Stockholders’ Equity, $191,000.


Alternate Problems

	11-1
	Req. 2:  the balance in the Capital in Excess of Par account appears to be $118,500,000.

	11-2
	(c)  Treasury Stock, common, debit $114,000; Cash, credit $114,000.

	11-3
	Total Stockholders’ Equity, $36,979,000.

	11-4
	Req.1, Case C:  Preferred Dividend per share, $2.40.  Common Dividend per share, $.049.


Cases

	11-1
	Req. 2:  Dividends per share was $0.44.

	11-2
	Req. 3:  The company does not have any Treasury Stock.

	11-3
	Req. 3:  Many investors are interested in the appreciation of stock rather than the amount of dividends.  Note that although American Eagle paid dividends, its dividend yield ratio is low; thus, investors would still be relying on American Eagle’s stock appreciating in value.

	11-4
	The number of common shares outstanding is 106.52 million shares.

	11-5
	The payment of a stock dividend is a cosmetic solution with no cash flow effects.  If the stock is valued by the market for its steady dividends, a stock dividend will not prevent a negative response.  

	11-6
	This case is used to discuss corporate governance and responsibility.


Chapter 12
Mini-Exercises

	12-1
	(2) F

	12-2
	(5) +

	12-3
	(3) F

	12-4
	Quality of Income Ratio, 85%

	12-5
	Net Cash flow used in investing activities, $(235)

	12-6
	Net Cash flow provided by financing activities, $500.

	12-7
	Purchase of building with mortgage payable: Yes.


Exercises

	12-1
	(9) I

	12-2
	(8) O

	12-3
	(7)  -NCFO, Prepaid Expenses, debit.  Cash, credit.

	12-4
	(1)  NE. Inventory, debit.  Accounts Payable, credit.

	12-5
	(8)  Only on the Statement of Cash Flows prepared using the Indirect Method.

	12-6
	Net cash provided by operating activities, $26,075.

	12-7
	Req. 1:  Net cash provided by operating activities, $12,500.

	12-8
	Net Cash provided by operating activities, $44,000.

	12-9
	Req. 1:  Net Cash flow provided by operating activities, $16,422.

	12-10
	Payables, increase.

	12-11
	Accounts payable, increase.

	12-12
	Req. 1: Year 2:  Net Cash provided by investing activities:  Proceeds from sale of equipment, $12,163.

	12-13
	Req. 1:  Cash flow received from sale of equipment, $4,700.

	12-14
	Req. 1:  Cash flow provided by operating activities, $8,944.

	12-15
	Cash flow provided by investing activities, $6,042.

	12-16
	Cash flow provided by financing activities, $200.

	12-17
	Req. 1:  Net cash (used in) Financing Activities, ($2,775).

	12-18
	Req. 1:  Both transactions are considered noncash investing and financing activities, and are not reported on the statement of cash flows.  The transactions must be disclosed in a separate schedule or in the footnotes.

	12-19
	Req. 1:  Cash collected from customers, +$93,500.

	12-20
	Req. 1:  Cash payments to employees, $35,000.

	12-21
	Req. 1:  Cash payments to suppliers, $53,520.

	12-22
	Req. 2: Cash Flow (used in) Financing Activities, ($6,000).


Problems

	12-1
	Req. 1:  Cash flow provided by operating activities, $35,950.

	12-2
	Req. 1:  Cash flow provided by operating activities, $19,000.

	12-3
	Req. 1:  Cash flow provided by financing activities, $35,950.

	12-4
	Req. 2:  Cash flow provided by operating activities, $2,595.

	12-5
	Req. 2:  Cash flow provided by operating activities, $22,000.

	12-6
	Req. 1:  Cash flow provided by financing activities, $10,500.


Alternate Problems

	12-1
	Req. 1:  Cash flow from operating activities, $31,000.

	12-2
	Req. 1:  Cash flow from financing activities, $11,000.

	12-3
	Req. 1:  Cash flow from operating activities, $31,000.


Cases

	12-1
	Req. 3:  Free cash flow, Negative $53,529 (in thousands).

	12-2
	Req. 2:  Tax payments of $120,847 thousand were made (located near the bottom of the Statement of Cash Flows).

	12-3
	Req. 1:  Quality of income ratio, American Eagle Outfitters, 1.58.

	12-4
	Net Cash flow from operating activities, $119,347.

	12-5
	Carlyle should seek additional capital to support an increased level of operations.  Without this extra capital, it is unlikely that Carlyle can continue in business.

	12-6
	Req. 2:  By recording the transaction as a regular sale, Enron reports the cash received as a cash inflow from an operating activity.  Had the transaction been recorded as a loan, Enron would have reported the cash received as a cash inflow from a financing activity.

	12-7
	The solutions to this case will depend on the company and/or accounting period selected for analysis.


Chapter 13
Mini-Exercises

	13-1
	Cost of Goods Sold is $932,400.

	13-2
	Sales amount is $31,198.

	13-3
	15.6%.

	13-4
	15%.

	13-5
	If the average sales volume remains the same, then cost of goods sold will remain the same.  If inventory decreases by 25%, the inventory turnover ratio will increase.

	13-6
	Current Assets = $920,000.

	13-7
	A mistake has been made in this case because the quick ratio is greater than the current ratio.  This is not possible, because by their definitions the quick ratio must always be less than or equal to the current ratio.

	13-8
	New stock price is $257.64.

	13-9
	Market price per share is $70.

	13-10
	Profit Margin and Current Ratio will decrease.


Exercises
	13-1
	(2)  Wholesale candy company (high inventory turnover).

	13-2
	(4)  Drug Company (high gross profit, low inventory turnover).

	13-3
	(1)  Cable TV Company (no gross profit; high property and equipment).

	13-4
	(3)  Automobile dealer (high cost of inventory, low property and equipment).

	13-5
	(9)  E.

	13-6
	2/3/2012, Net Earnings Percentage, 3.66%.

	13-7
	Current Assets, $157,000.

	13-8
	(1)  Will increase the Current Ratio assuming cash was collected from the sale.

	13-9
	Inventory Turnover is 5.7.

	13-10
	Net sales, $9,141,555,000.

	13-11
	Accounts receivable turnover is 13.3.

	13-12
	Current ratio after transaction 6 is 1.48.

	13-13
	Inventory Turnover is 6.6.


Problems

	13-1
	(1)  Company A has a high level of liquidity as shown by the current ratio, but the low quick ratio indicates that much of the liquidity is tied up in inventory.

	13-2
	(2)  Company A appears to have the ability to borrow additional funds, given its low debt/equity ratio.

	13-3
	Starbucks:  (A) 33.

	13-4
	Since JCPenny has a higher gross profit margin, higher profit margin, stronger ROA, and stronger ROE, JCPenny is the stronger company and probably the better investment.  

	13-5
	Req. 1:  (2) Return on Assets for Young Company is 11.9%.

	13-6
	Req. 1: Net Income increased $4,000 from 2014 to 2015.

	13-7
	Req. 2:  (f) Return on equity, 36.4%.

	13-8
	Average Collection Period is 92.17 days.

	13-9
	(5) EPS – Company A will have a higher ratio because of reporting higher net income.

	13-10
	Tests on profitability: (1) Return on Equity, (2.1%).


Alternate Problems
	13-1
	(1) Company A shows a high EPS but a low ROA.  There are a number of possible explanations for this situation.  The high debt/equity ratio suggests that Company A is highly leveraged and is able to generate high earnings for stockholders by using a large amount of debt financing.

	13-2
	(1) Company A appears to be very profitable based on both ROA and profit margin.  The use of leverage has enhanced the ROA.

	13-3
	Coca-Cola is the stronger company and probably is the better investment.  Coca-Cola has a much larger P/E ratio, meaning that the market sees Coca-Cola as having more potential for growth than Pepsi.  The ROA ratio for Coke is much better than Pepsi, but Coke does appear to have a more risky capital structure because of its higher debt-to-equity ratio.  Coke pays out a higher percentage of its earnings in dividends.

	13-4
	Req. 2 (d):  There appears to be a credit and collection deficiency. The receivable collection period of over 70 days compared with the 30-day credit terms indicates more uncollected accounts than should be expected.

	13-5
	Req. 2(b): Pretax interest rate on the long-term note: $4,000 ÷ $40,000 = 10%. 

	13-6
	Req. 1:  (a) Profit margin: 2014, ($8) ÷ $44 = (18%).


Cases

	13-1
	American Eagle’s Return on Equity is 11.0%.

	13-2
	Urban Outfitters’ Price/Earnings Ratio is 29.2.

	13-3
	Urban Outfitters’ Debt/Equity Ratio is .39.  American Eagle’s Debt/Equity Ratio is .38.  
The Industry Debt/Equity Ratio is .70.

	13-4
	Case 2:  Average Total Assets = $1,000,000.

	13-5
	The two areas where we would expect the largest difference are profit margin and asset turnover.  We would expect the “high quality” company to have higher margins.  The “low cost” company could produce high returns to the owners.

	13-6
	Current ratio before payment to creditors is 1.77; current ratio after payment to creditors is 2.26. 

	13-7
	The response to this question will depend on the companies selected by the students.


Appendix E
Mini-Exercises

	ME-1
	(7)  B.

	ME-2
	Held-to-Maturity Investments, debit $900,000.

	ME-3
	Dec 31, 2014:  Net Unrealized Loss/Gain, debit $18,750.

	ME-4
	Dec 15, 2014:  Dividend Revenue, credit $12,500.

	ME-5
	12/31 Transaction:  Assets -$18,750. Stockholders’ Equity -$18,750. 

	ME-6
	12/31 Transaction:  Assets -$18,750.  Stockholders’ Equity -$18,750.  Expenses/losses +$18,750.  Net Income -$18,750.  

	ME-7
	Dec 31, 2014:  Investments in Affiliates, debit $140,000.  

	ME-8
	7/2 Transaction:  Assets +$4,000,000 and Assets    -$4,000,000.  No net effect on Assets. 

	ME-9
	Goodwill, debit $85,000.

	ME-10
	Economic Return from Investing is 14.06% in 2015.

	ME-11
	Disney reports a large amount of goodwill because it has purchased other businesses, paying more than the fair market value of the net assets of the acquired companies.


Exercises

	EE-1
	Req. 1:  Held-to-Maturity Investments, debit $12,000,000.

	EE-2
	(B)  Equity Method, $140,000.

	EE-3
	Dec 31, 2014:  Investments in AFS securities, debit $14,000.

	EE-4
	Dec 31, 2015:  Net Unrealized loss/gain, debit $21,000.

	EE-5
	Dec 31, 2015:  Investments in AFS securities, debit $45,000.

	EE-6
	Dec 31, 2016:  Net Unrealized Loss/Gain – TS, debit $60,000. 

	EE-7
	Req. 3:  Investment in Affiliates (equity basis), $207,900.

	EE-8
	Req. 2:  Dividends received from affiliated companies (cash received), + $10,725.

	EE-9
	Goodwill, debit $411.

	EE-10
	Req. 1:  Economic Return from Investing is +7.98% in 2016.

	EE-11
	Req. 1, July 1, 2014: Held-to-maturity investments, debit $13,785,600.


Problems

	PE-1
	Req. 1:  When bonds are purchased, the company increases Investments Held-to-Maturity and decreases Cash.

	PE-2
	Req. 1:  December 31, 2014:  Net Unrealized Loss/Gain, debit $40,000.

	PE-3
	Req. (b):  Dividend Revenue, credit $7,771.

	PE-4
	Req. 3 (c):  Dividend Revenue on the income statement for 2015 is $9,800.

	PE-5
	Req. 3:  Journal entry on December 31, 2015:  Equity in Affiliate Earnings, credit $9,000.

	PE-6
	Req. 2 (b):  Case B:  Equity in Affiliate Earnings, credit $15,750.

	PE-7
	Req. 3 (c):  Case A:  Dividend Revenue reported on the Income Statement is $15,000.

	PE-8
	(d) Investments in Affiliates reported on the Balance Sheet is $67,450.

	PE-9
	In the Operating Activities Section of the Statement of Cash Flows the Net Income is adjusted as follows:  $96,750 of Equity in earnings of affiliates is deducted from net income and $60,750 of Dividends received from affiliates is added to net income.

	PE-10
	Req. 2:  Goodwill purchased, $50,000.

	PE-11
	Req.1: Economic Return from Investing is 1.9%.


Alternate Problems

	APE-1
	Req. 3:  No journal entry is required.  A decrease in the fair value of bonds in the held-to-maturity portfolio is not recorded.

	APE-2
	Req. 2:  December 31, 2014:  Net unrealized loss/gain, credit $14,000.

	APE-3
	Req. 3 (b):  2015 Statement of Stockholders’ Equity, under Other Comprehensive Income, Net Unrealized gain/loss $24,000.

	APE-4
	Req. 2:  Case A:  On journal entry for December 31, 2015, credit Dividend Revenue $18,000.

	APE-5
	Case B:  Operating Activities, dividends received, +$48,000.

	APE-6
	Req. 1:  Goodwill purchased = $30,000.


Cases

	CPE-1
	Req. 2:  A balance of $11,469,000 was reported for goodwill on the January 28, 2012, balance sheet.  There was a very slight change in goodwill during fiscal 2011 ($3,000 decrease). Since goodwill can only result from the acquisition of another company at a price, which exceeds the individual fair market values of the assets and liabilities, it is unlikely that the company purchased another company during this time period.  Note 2, under the heading “Goodwill,” indicates that goodwill was not impaired during fiscal 2011.

	CPE-2
	Req. 2:  The company purchased marketable securities for $169,467,000 during the most recent year, as disclosed on its statement of cash flows under investing activities.

	CPE-3
	Req. 4:  The fair value of Maryn stock increased during 2015; therefore, the amount of the investment account balance would be $550,000.

	CPE-4
	The only major differences between Diageo’s accounting and U.S. GAAP relate to acquisitions from prior years. Prior to 2001, goodwill was recorded on the balance sheet as an intangible asset and amortized over a period not to exceed 40 years in the U.S. Under U.S. GAAP, amortization of these amounts of goodwill was stopped in 2001. In England, prior to 2006, the recorded amount of goodwill was subtracted from retained earnings and not recorded as an asset. The financial statements of both U.S. and U.K. companies were not restated for the acquisitions accounted for under the old rules. So the older and newer acquisitions are accounted for in the current statements using different methods.

	CPE-5
	This case deals with inside information. The plan to acquire 80% of another company is significant because, when announced, it will affect the stock price of the other company. It is wrong both legally and ethically to trade on insider information regardless of the size of your proposed investment. It is also wrong to pass insider information on to another individual even if you do not profit directly from the information.

	CPE-6
	The assets, liabilities, revenues and expenses of the two companies will be added together. It is unlikely that the two companies have significant intercompany transactions such as intercompany sales. The analyst cannot simply add the two financial statements together because the investment account must be eliminated and the assets of the acquired company stated at their fair value. Unfortunately, this information is not available publicly.

	CPE-7
	The solutions to this project will depend on the company and/or accounting period selected for analysis.
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